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Sociology
Paper I1I

HHTSIMTE

gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.
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(A) Traditional and rational action (8) TR S G T
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(C) Personal and social action (C) “afrs a WA fohan
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4. Who among the following is | 4. wrcfictish! o ‘Hey Tqe’ a1 ehodnel

associated with the term “Reference Hefug a8 ?

group” ?
(A) T eq
(A) Robert Merton

(B) 2ToTehie Ui
(B) Talcott Parsons

(C) Erving Goffman (C) ek b
(D) Vilfredo Pareto (D) foeths W&

5. Match the following theory and | 5- el fagia onfor fommea ar=n
thinkers and select the correct SiTee1 Sogell A1 Sf<d T feeiedn hie
answer from the codes given below : HEA [RECUEE
Theory Thinker fagr= ferarmaia

(a) Hegemony (i) M. Weber (@) YA @& TH 9

() Conflict i) G. Mead (b) TS @) St fie

(©) Social Action (iii) A. Gramsci (c) TTHITSTR el (i) . TR

(@) Symbolic interactionism (i) R. Dahrendorf | (@ JTToRTCHeR STARIHATIE (o) IR, STTS®

() Levy-strauss ) -T2

Codes HE
(a) b) (0) d) (@) b) (c) (d)
A @ (111) (i1) (tv) A @ (ii1) (i1) (tv)
B) (v @) (111) (i1) B) (@) @) (i11) (11)
©C) @) (tv) @) (11) (C) (@) (iv) @) (11)
D) Gv) (ir) @) (111) D) (v) (i2) @) (z11)




Karl Marx viewed revolution as :
(A) Political accident

(B) Social expression of a historical

movement
(C) Religious upliftment
(D) Moral manifestation of society

Who of the following is known for
functionalist interpretation of social

stratification :

(A) Talcott Parsons
(B) C.W. Mills

(C) Max Weber
(D) R.K. Merton

Generally speaking, in an industrial
society, individual’s occupational

status is :

(A) Conferred
(B) Achieved
(C) Ascribed

(D) Determined by caste
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(A) ARl IREH
(B) Hie=y. fHed
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IS T QN hAl TTA

(A) ST helell
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(C) 9cd
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10.

11.

A change of position that does not

result in higher or lower status is

called :

(A) Horizontal mobility

(B) Vertical mobility

(C) Inter-generational mobility
(D) Intra-generational mobility

In which type of research study,

proposing hypothesis is not

considered necessary ?

(A) Exploratory Research
(B) Diagnostic Research
(C) Experimental Research
(D) Case study

The tentative proposition that is put

to empirical test is called :
(A) Questionnaire

(B) Interview

(C) Objective

(D) Hypothesis

10.

11.
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el h . Wordia

(A) T Tfaeietdn
(B) Std Tfasiietdn
(C) safuera wfasfieran

r\t\’\i‘ TS

(D) TYSRATT ATl

TN ST T TR TTeideh
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(A) F¥rEEt

(B) Hefrerd

(C) 3feme

(D) Tfedh




12.

13.

A

®B)

©)

D)

14.

According to Durkheim, which one
of the following is not a feature of

social fact ?

(A) Generality
(B) Constraint
(C) Externality

(D) Individuality

Which of the following pairs is not
correct ?

Social action — Merton
Symbolic Interactionism — Blumer
Social Fact — Durkheim
Circulation of Elites — Pareto

Who of the following is

recognized as an exponent of

‘Ethnomethodology’ ?
(A) H. Garfinkel
(B) J. Habermas
(C) E. Goffman

(D) M. Foucault

12.

13.

(A)

(B)

(®))

(D)

14.
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15.

16.

17.

Whose definition of religion refers to
“a unified system of beliefs and

practices relative to sacred

things” ?

(A) E.B. Tylor

(B) James J. Frazer
(C) Gerhard Lenski
(D) Emile Durkheim

Family of procreation is described as

one in which :

(A) one becomes a parent

(B) one gets education

(C) one is born

(D) one gets shelter
Sociologically speaking “Religion”
is :

(A) Group phenomenon

(B) Natural phenomenon

(C) Supernatural phenomenon

(D) Sacred phenomenon

15.

16.

17.
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o N
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18.

19.

20.

According to whom, the mind is an

inner conversation with one’s

self ?

(A) Vilfredo Pareto
(B) C.H. Cooley
(C) G.H. Mead

(D) Max Weber

Who among the following introduced
the concepts of ‘in-group’ and

‘out-group’ ?

(A) C.H. Cooley

(B) W.G. Sumner
(C) R.K. Merton

(D) R. Linton

Structured set of questions used by
the researcher to collect information
from the field by himself is known

as :

(A) Interview schedule
(B) List of questions
(C) Observation

(D) Oral history

18.

19.

20.

FEB — 14213/II
‘a3t holel TN GHEO TS
T B’ S U WU ?

(A) faehe 9@
(B) T HA
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(D) Heg Il
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21.

22.

Participant observation involves :

(A) Content analysis

(B) Analysis of archival sources

(C) Close and involved observation

of the community
(D)

Historical analysis

What is the term used to refer
to the method of assigning
numerical symbols to the different
categories of responses of the

respondents ?

(A) Coding of data

(B) De-coding of data

(C) Analysis of data

(D) Tabulation of data

21.

22.

FEB — 14213/11

e O wemEn efawtd

el ?
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23.

24.

Which of the following tools is not

used in survey method ?

(A)

Structured questionnaire

(B) Precoded questions with coding

manual

Interview with individual-

(®))

specific probing questions

(D) Questionnaire involving
questions with multiple choice

of answers

Reward and punishments

associated with role expectations are

called :

(A) Norms

(B) Values

(C) Mores

(D) Sanctions

23.

24.
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WeAteTdeh! A TITIGId hIoTe FIEHT=
AR B AE ?
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~
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T
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A) A
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(D) A=
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25.

26.

27.

Rights and duties attached to a

status is known as :
(A) Social value

(B) Social norm

(C) Social role

(D) Social status set

The method which is designed to
collect data from large, diverse and
widely scattered groups of people is
known as .....ccccec...
(A) Interview

(B) Social survey
(C) Questionnaire

(D) Content analysis

Ralf Dahrendorf’s conflict theory

focuses on :
(A) Status
(B) Authority
(C) Education

(D) Economy

25.

26.

27.
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TN Hd gah ST el Il

U ?

(A) WHISR oo

(B) gmrtsier 94

(C) HrHfSTh  YfHehT
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28. Who among the following is the 98, WUk 9 TN UHEES @ FUUR
first sociologist to draw attention
. Ectideh! Ifgctl HHISIST R0l ?
to primary and secondary
groups ? (A) Fa
(A) Cooley
(B) ¥9HR
(B) Sumner
(C) Comte ©
(D) Parsons (D) 9EH
29. “Structure and Function in | 29 ‘“‘Ze=R 3f< HMH 1 U= I= "’
Primitive Society” is the book written a1 d9 Fi fafgen ?
by :
(A) . Hfetasnt
(A) B. Malinowski
(B) e w2
(B) Robert Merton
(C) JIcTehle qREH
(C) Tolcott Parsons
D) {Sfoa® s
(D) Radcliffe Brown D
30. Levi-Strauss described structure as | 30- ézﬁ_{gs;u RESICRERCE R
a: o
(A) Construct or abstraction (A) T fra \‘H‘i('idl
(B) Interactionality or process ) )
(B) sTaifsharcaeharl foral Gfsham
(C) Real or functional whole
(D) Reflection of collective (C) STEE el Wl HH
consciousness (D) S i gfafds
11 [P.T.O.



31.

32.

Which of the following creates

gender roles in a society ?

(A) Biological differences

(B) Education

(C) Socialization

(D) Political institution

Consider the following statements :

Assertion (A) : Caste and class

continue to coexist in Indian society.

Reason (R) : In general, classes

develop broadly within the

framework of caste in India.
Of these two statements :

(A) Both (A) and (R) are true and

(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true and

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

31.

32.
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ETeTdsh! IV FehTes HISTHE
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(A) Steffer e

(B) ferero
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et faummn fo=sm &3 -
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ST . YRAE 9HNIG 9HId

T TR S eIeed= Hehdia e
.

e ATl
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3 (R) B (A) o 3Tk TR
e

(B) (A) g (R) & g faem slier a7
T (R) T (A) = 3Th TILR]
T

(C) (A) SR 3R T (R) IF IR

(D) (A) o 3R 99 (R) SR 3TR

(R)
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33. Which term sociologists use to refer
to “an organised system of social
relationships which embodies
certain common values and

procedures, and meets certain needs

of society” ?

(A) Social organization
(B) Social group

(C) Social institution

(D) Social relationship

34. Match the following and select the
correct answer from the codes given
below :

Methods Sociologists

(@) Multivariate analysis (i) B. Malinowski

() Ethnography (ii) H. Garfinkel

(¢) Ethnomethodology (it1) M. Weber

(d) Verstehen (iv) E. Durkheim
Codes

(A) (@)-Gv), (b)-(v), (c)-(ii), (d)-(0)
B) (a)-G), (b)-Gv), (c)-GD), (d)-()
(C) (@)-(iD), (b)-(v), (¢)-(id), (d)-(2)
(D) (a)-Gv), (b)-(), (c)-(i1), (d)-(ii)

FEB — 14213/1I1
" TR FaETET Tk HEfed el &
ALY hTe fafeTse TaE g o7
qgdl o FESTe fafire ren Rergdien
HHTEYT holell 3T TS FHISRTES
IO Rl ST ?

33.

(A) TSR gerel
(B) WIS &8
(C) WIS He

(D) 9IS HaY

Stredn aren 3nfur fed 9=t @t feaiesn

sremyd ferer .

34.

qgdr TSGR
(@ wg=R fogamm G) . femtawht
(b) TR (i) TH. TMitheha
(c) TARFEITGHIRIE (i) TH. FeX
(@) e (i) 3. gfEw
Hehd :

(A) (@)-Gv), (b)-(i), (c)-(ii), (d)-(2)
B) (a)-(), (b)-(v), (c)-(iii), (d)-(ii)
(C) (@)-id), (b)-(iv), (c)-(i1), (d)-(2)
D) (a)-Gv), (b)-G), (c)-(i), (d)-(iii)

13

[P.T.O.



35.

36.

37.

A small-scale preliminary study
conducted before the main research
in order to check the feasibility of

research is known as :
(A) Pre-testing

(B) Pilot study

(C) Quick survey

(D) Sample study

What is the distinctive feature of
community ?

(A) Formal social relationships
(B) We-feeling

(C) No definite territory

of

(D) Individual’s feeling

dependency

According to Mead, an action that

implies reaction is termed as

(A) Gesture
(B) Social action
(C) Act

(D) Symbol

FEB — 14213/11

35. & UINYATYS HRNEATET  STeRITRRRIdI

36.

37.

[aV

TUTHUITETS! Sholdl Bl YHTIMEIA

(A) gd =Tl
(B) UUcEll STwH
(C) Siag Fa&

(D) AT 31

e JUSh AHU RO IR ?
(A) sig=iiies wmifSs Gy
(B) ‘e’ St e

(C) Tf¥=a y-wew &l

(D) TeKI=t STecAfocar= e

Hre= HargHml, it foran, afafsran gfea
L el qeiadehl IV Gl arde

Sd ?

(A) =BEadE

(B) gmrfser foman

(C) it
(D) ufee

14



38.

39.

Who wused the term ‘Social
Microscope’ to denote ‘Case
Study’ ?

(A) Thomas and Znaniecki
(B) Burgess

(C) Durkheim

(D) Max Weber

Arrange the following concepts as
they are sequenced in Talcott
Parsons’ theory of social system and

identify the correct sequence :
(1) Latency

(i1) Integration

(i17) Adaptation

(tv) Goal attainment
Sequence codes

A) @), Go), (i), (Gv)
B) @), @), Gv), @)
(C) @), Gv), (1), (@)

D) (v), (), (i), @)

38.

39.
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i MICE D = IR B T e rs s 8 [
Heueyish' € WAl HIvl ARl ?

(A) 9rFF 37T Foeh!
(B) o
(C) @A

(D) Heg Il

@il HeheUl 2eTehie qre-a=a fagidaa

1 A TSl 3Ted ATJHR =T A

@ 3T WeATeTdeh! 3Tgeh ¥ I
q fesEn

(i) it

(i) TR

(iii) STSRYH

(fv) el HETH=
WH Hehdleh :

A) @), Go), @), (v)
(B) @), (Zir), (), (@)
(C) @), Gv), (), (D)

(D) (@v), (D), (), ()

15
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40. Which of the following is associated

41.

with qualitative research ?

(A) Oral history

(B) Sampling

(C) Hypothesis

(D) Questionnaire

A distinct set of institutions having

absolute authority to make the rules

which govern society is termed

(A) Political party

(B) Government

(C) The State

(D) dJudiciary

40.

41.
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TUCHe  HINEATST @efiadesh! hd

Tafgg R ?

(A) Hifew sfaem
(B) THIHSd

(C) Tfedsh

(D) GEATeAl

~

A4

gUTST (IMEF)  HITITHTS

AEYIH  AYUR a0 TR 0T

SRR T T Yo He=

e FTOIEESt FIvET "9 ATt

Sd ?

(A) USThig 9&1

(B) HIhR

(C) TSTHEen

(D) I IEAq
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42. Which one of the following is not the | 49 Gl HIUAT I A= GTHIISE
basis for Weber’s classification of o o
T FIRLOTE STER @ 2
social action ?
(A) S=TReh R &4
(A) Modes of articulation
(B) TRl
(B) Situation
(C) Goal of action © 7 :
(D) Negation of value (D) qear=l THR
43. Select the correct statement : 43. Irg faym faer .
(A) Mores are more strictly (A) RERUET Th-Idie! STHeSTa
implemented than the folkways Y HICHRIAU et Sd
(B) Folkways are more strictly (B) TATdIUeT dih&edl -
implemented than the mores TS AT HISHITU shett Sd
(C) Mores and Folkways are (C) oAl ST ih®e! A
equally treated in society ThIREA™ AT SIdTd
(D) Mores are parts of oral while (D) TRt TUTSl HiferehTal 9T 3Tl
folkways are parts of written W el fafed wo=n am
tradition 379
17 [P.T.O.



44. Consider the following statements :

Assertion (A) : The process of
economic development has not
the

benefitted substantially

backward communities.

Reason (R) The perpetual
backwardness of these communities

is attributable to their cultural

traits.
Of these statements :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true and

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

FEB — 14213/11

44, @eita fagmmn fomar w0
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38
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45.

46.

47.

Who of the following developed

‘folk-urban continuum’ ?
(A) Kroeber
(B) Lipton
(C) Marriot
(D) Redfield

Which of the following is an example

of quasi group ?
(A) Family

(B) Play group
(C) Income group
(D) Trade Union

Which of the following is not an

agency of socialization ?
(A) Family
(B) School
(C) Court

(D) Media

45.

46.

47.

FEBR — 14213/11

EcteTdeh! ShIOe Ta=amerd ¢ elleh -

g’ & Hhed T wige ?
(A) IR

(B) fawea

(C) e
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(A)

(B) =Mmeat
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48. Pick the incorrect pair :

(A) Cluster Sampling — Probability sampling
(B) Quota Sampling — Probability sampling
(C) Systematic Sampling — Non-probability sampling

(D) Purposive Sampling — Non-probability sampling

49. A study of a village over an
extended period of time, collecting
data at time intervals is known

as :
(A) Longitudinal study
(B) Latitudinal study
(C) Comprehensive study
(D) Before and after study
50. Which of the

following is

not a characteristic of usable

hypothesis ?

(A) Empirical verifibility
(B) Conceptual clarity
(C) Theoretical reference

(D) Generality

FEB — 14213/11

(al o

48. o= Siet ferer

@ g T —  H9eEd T
®) hre T — e T
© egEs TN fae —  IREWEEE T
(D) Hegh THA — RGeS
49, THT TSI 3 eRI@Idd sholal

50.

Y, i A SUfdh HIAGU ded

Hehfeld helt A o A S
A ?

(A) dfsEfeta swm™

(B) wffesfeTa a1vme

(C) 99U A9I™

(D) Mt 9 Ja hololl 378

TEHeUsh! hIvd TR i
ofere=y ATEr ?

(A) 3TYafTs3 USdlesull IeRI 3THd

(B) HohoUdlcHsh TIod]
(C) Tgifaw T

(D) wrafzer faawo
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1. Writﬁe y;)ur Sfetsﬂ;.No. and OMR Sheet No. in the space provided 1. uftenef= sTae ST wHiE A W I FI9=A1q Toreran.
on the top of this page. T AT frcie SOITE I S e e
2. This paper consists of 50 objective type questions. Each question :
will carry two marks. All questions of Paper-II will be compulsory, 2. T TR 50 W T SR, TeTh G E}l"f T
covering entire syllabus (including all electives, without options). SR, I IR diel @ 99 Aiefat Afar oM. Te= I9
3. At the commencement of examination, the question booklet %mﬁww ST HTER 3T 3TRd.
will be given to the student. In the first 5 minutes, you are Fereneaten yeaTieR foaht st W
requested to open the booklet and compulsorily examine it as 3. qﬂmﬂg 7 : 5
follows - oo ST TET TETfAeR! SIS @eiiet e ST T
@) To have access to the Question Booklet, tear off the REE2IGH
paper seal on the edge of this cover page. Do not accept @) YITUehT SHSTATEIE] GITYTha adeiel i STST4.
a booklet without sticker-seal or open booklet. TR fRaT STl geTaheR Rewre
(1) Tally the number of pages and number of questions . i @ T
in the booklet with the information printed on the @) “FW'TW "1\3 SHeATIHTOT WW@
cover page. Faulty booklets due to missing pages/ Wwwm
questions or questions repeated or not in serial g‘%aﬂ:ﬁ' AT, WY ST /Y= %@ﬁa‘r
order or any other discrepancy should no't be w9 WWW@ Wﬁ?ﬁmm
accepted and correct booklet should be obtained R T am
from the invigilator within the period of 5 minutes. ol frea 5 3'3 RTCT ATd o {
Afterwards, neither the Question Booklet will be Wﬁ!ﬂﬂ e, AT m
replaced nor any extra time will be given. The same ﬁm?@mmwﬁmwww
N may please be noted. et =ﬁ'q' =T,
(ti1) After this verification is over, the OMR Sheet Number (i) STt Td TeareT W%W'Fl?‘l'{_d JyTufaEaT
should be entered on this Test Booklet. 2
4. Each question has four alternative responses marked (A), (B), .0 TR, ATk For fergra.
(C) and (D). You have to darken the circle as indicated below on 4. Tk GYATETS! (A), (B), (C) YT (D) 33N =R fomeq S feett
the correct response against each item. 3R, T A T AT STt e faeanywr Seshaol

Example : where (C) is the correct response. e/ .
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5. Your responses to the items are to be indicated in the OMR @ ' ' @

Sheet given inside the Booklet only. If you mark at any place

other than in the circle in the OMR Sheet, it will not be evaluated. 5. RIS EIEE TSRS S JTH. BTI'{'

6. Read instructions given inside carefully. TR Tl fordieret S et SO i

7. Rough Work is to be done at the end of this booklet. 6. ST fEies Y= Hiesiges ararea

8. If you write your Name, Seat Number, Phone Number or put 7. YIS =a1 Tl Sieoedl il Wﬁwm
any mark on any part of the OMR Shoet, except for the space | g < oo .. o, =R oz v fommrm =t s Fedt
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means, you will render yourself liable to disqualification. HEoZd ST . ( W

9. You have to return original OMR Sheet to the invigilator at the ST he 2 q fereneAe STIT S ATATe Egﬁ .
end of the examination compulsorily and must not carry it with 9. TN YU foraneaty Hes o7 TH. 3R, ST Taehiehs
you outside the Examination Hall. You are, however, allowed TR 0] ST SR, T, FETUeh & 311.0H. 3R, ISTAehet
to carry the Test Booklet and duplicate copy of OMR Sheet on fed™ 9a AIeaTeRIeR oI faeneaf= qem 3Te.
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11. Use of any calculator or log table, etc., is prohibited. 1L q T
12. There is no negative marking for incorrect answers. 12. gai' 2l T[OT T STTUTIY IE'




